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First Printing: June 2007
Corrections for all Printings
Second Printing
	Pg
	Error
	Correction

	220
	1. Which of the following addresses is an IPv4 private address?

a. 198.176.1.1

b. 172.3116.1.1

c. 191.168.1.1

d. 224.130.1.1


	1. Which of the following addresses is an IPv4 private address?

a. 198.176.1.1

b. 172.36.1.1

c. 192.168.1.1

d. 224.130.1.1



	522-545
	All references to SSCP…

All references to Skinny Station Control Protocol…
	should be SCCP

should be Skinny Client Control Protocol


Third Printing

	318
	Chapter 10, Question 5, Answer b:

Reads:  RIPv2
	Should read:  


RIPng and EIGRP for IPv6

	334
	Chapter 10, First Paragraph, Second to last sentence:

Reads:  Packets using EIGRP use IP 88.
	Should read:


Packets using EIGRP use IP protocol-number 88.

	340
	Chapter 10, EIGRP Design paragraph, Fourth sentence:

Reads:  In fact, the EIGRP diameter can be 225 hops.
	Should read:


In fact, the EIGRP diameter can be 255 hops.

	344
	Chapter 10, Table 10-4, Routing Protocol Comparisons, under column RIPng, row Update  timer (sec)

Reads:  90
	Should read:


30

	348
	Chapter 10, Q&A, Question 12, Answer D:

Reads: Uses multicast FF02::
	Should read:


Uses multicast FF02::A

	361
	Figure 11-3 OSPF Router Types: 
Two arrows coming off of the “ABR” label on the upper right hand side  
	Should be:


The bottom arrow coming off of the “ABR” label on the upper right hand side

	512
	Chapter 15, Centum Call Second (CSS), last sentence

Reads:

In other words, 360 CSS equals 1 Erlang (3600 seconds).
	Should read:

In other words, 36 CSS equals 1 Erlang (3600 seconds).

	597
	Chapter 6, Q&A; Answers to question 28

Reads:

i = A

ii = C

iii = D

iv = B
	Should read:

i = A

ii = D

iii = B

iv = C


Corrections for March 28, 2011

	Pg
	Error
	Correction

	14
	Chapter 1, Implement Phase, Fifth sentence 

Reads:

Each step in the implementation should includes a description, detailed implementation guidelines, estimated time to implement, rollback steps in case of a failure, and any additional reference information. 


	Should read:

Each step in the implementation should include a description, detailed implementation guidelines, estimated time to implement, rollback steps in case of a failure, and any additional reference information. 
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